Технические      характеристики       динамометров

	Тип динамометра

	Класс точности

	Пределы измерения
	Цена деления

	1 кг- 9,8 N

	Вес, кг

	погрешность


	
	
	Наибольший
	наименьший
	
	
	
	

	ДПУ-0,01
	2
	10 кгс
	1 кгс
	0,1 кгс( 100 г)
	
	
	2% = 200 г

	ДПУ-0,02
	2
	20 кгс
	2 кгс
	0,2 кгс (200 г)
	
	
	2% = 400 г

	ДПУ-0,1
	2
	100 кгс
	10 кгс
	1 кгс
	
	
	2% = 2 кг

	ДПУ-0,2
	2
	200 кгс
	20 кгс
	2 кгс
	
	
	2% = 4 кг

	ДПУ-0,5
	2
	500 кгс
	50 кгс
	5 кгс
	
	
	2%= 10 кг

	ДПУ-0,1 
        -0,01
	2
	0,1 kN (10 кг)
	0,005 kN
0.01 kN
	0,001 kN
	
	1,4
	2% = 0,002 kN

	ДПУ- 0,2 
        -0,02
	2
	0,2 kN (20 кг )
	0,01 kN
0,02 kN
	0,002 kN
	
	1,5
	2% = 0,004 kN

	ДПУ-1
       -0,1
	2
	1,0 kN (100 кг)
	0,05 kN
0,10 kN
	0,01 kN
	
	2,0
	2% = 0,02 kN

	ДПУ-2 
       -0,2
	2
	2,0 kN (200 кг )
	0,1 kN
0,2 kN
	0,02 kN
	
	2,1
	2% = 0,04 kN

	ДПУ-5
        -0,5
	2
	5,0 kN ( 500 кг )
	0,25kN
0,5 kN
	0,050 kN
	
	2,2
	2% = 0,1 kN

	ДПУ-2
	1 /2
	2 ТС
	0,2 TC
	0,02 TC ( 20 кгс )
	
	10
	1% = 20кг 
2% = 40 кг

	ДПУ-5
	1/2
	5 ТС
	0,5 TC
	0,05 TC ( 50 кгс )
	
	15
	1% = 50кг 
2% =100 кг

	ДПУ-10
	1/2
	10 ТС
	1TC
	0,1 TC( 100 кгс)
	
	17
	1%= 100 кг 
2% = 200 кг

	ДПУ-20
	1/2
	20 kN ( 2 ТС )
	2kN
	0,2 kN
	
	10,5
	1 % = 0,2 kN 
2% = 0,4 kN

	ДПУ-50
	1/2
	50 kN ( 5 ТС )
	5kN
	0,5 kN
	
	18
	1 % = 0,5 kN 
2% = 1,0 kN

	ДПУ-100
	1 /2
	100 kN( 10 ТС)
	10 kN
	1 kN
	
	20
	1%= 1 kN
2% = 2 kN

	ДПУ-200
	2
	200 kN ( 20 ТС )
	20 kN
	2kN
	Показания шкалы умножают на 10
	35
	2% = 4 kN (400 кг)

	ДПУ-20
	2
	20 ТС
	2TC
	0,2 TC ( 200 кг )
	Показания шкалы умножают на 10
	
	2 % = 400 кг

	ДПУ-500
	2
	500 kN ( 50 ТС )
	50 kN
	5kN
	
	55
	2%= 10kN( 1 t)


